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15 MARCH 2023

08:00 AM t0 10:00 AM

01 MARCH 2023
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BILINGUAL BILINGUAL BILINGUAL

22 MARCH 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

05 APRIL 2023

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI BILINGUAL
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What would be the single discount of 40% and 60% consecutive discounts?
40% <hT TH T AR 60% hHT TTAR T AT FAT?

( (£20) > =2

3.27
4.64
5.NOT



What would be the single discount of 14(2/7)% and 16(2/3)% consecutive discounts?
14(2/7)% AR 16(2/3)% Y THTTAR BE h Thet T AT FHIT?

1.40
2.28
3.284/7
4.14 2/7
5.NOT




What would be the single discount of 10%, 20% and 30% consecutive discounts?

10%, 20% 3T 30% hT THITAR B T TheT B FAT B2

1.50.4
2.28.2
3.49.6
4.12.8
5.NOT



If MRP of an article is 6000 rupees and shopkeeper gives 30% and 40% discount.

What is the selling price of article?

e Torslt &g Y THATTT 6000 T9 2§ SR THER 30% TR 40% BT AT 3| TE 1

forsra gea T R?

(@)

1.2400
2.2520
3.2100
4.2720
5.NOT



If an article is sold for rupees 11400 after applying two consecutive discounts such
that the MRP of article is 16000 and first discount is 5% then calculate second

discount ?

IS Teh TG ol AR §1 TE AN A o A1G 11400 TIX H ST ATAT § FH {eh TG T
THATY 16000 & 3R Tget B2 5% & it godl g ot TuHT e

e > 1.16 2/3

3.25
4.15
5.NOT



Cost price of an article is 3000 rupees. If after giving 25% discount shopkeeper
gains 15% profit. Calculate MRP of article ?

Teh I ST AT 0o 3000 TUA 71 AT 25% T2 S o AT THIAGR T 15% 19 FHat

21 S <Y THSTRUT ShY 0T Y2

= > 1.4600
b |‘l=D ',

3.6900
4.4500
5.NOT



MRP of an article is 7200 rupees. If after giving 15% discount shopkeeper gains
20% profit. Calculate cost price of article?

Teh I <hl THARHT 7200 TUA 31 AT 15% T2 I o AT THIIR T 20% T T 21

T o KT Hed hl TUTT hi?

47 = > 1.3600
- IJ:D ',

3.3400
4.6800
5.NOT



If to fix MRP of an article cost price should be increased how much such that he
gains 20% profit after giving 20% discount?

qf fore oEq oAt STTerehad Tt 7o Feiia s o 770 sha e | oot gig 6t
AT SR, AT 20% B 37 o MG I 20% ATH BT 82

w m> 1.40
2.20
3.50

4.35
5.NOT



How much more a shopkeeper must keep his mrp than cost price that he gains 26%
profit after giving 10% discount?

Teh TSR el 10% T I o6 TG 26% TTH UTH HIA AT 363 T § TeheaT arfern

MRP T@HT 1202

Cosoo\ 1.284/7
/\ '—"j 2. 2.40

3.35
4.20
5.NOT



If a person gains 10% profit on giving 12% discount then how much would be the
profit if he doesn't give any discount?

afy 3 e 12% B 37 W 10% AT TTH HIAT 8, @ a1S 98 g Be T8 qar & al
e feRaT grm?

( (£20) > 20

3.30
4.40
5.NOT



If a person gains 60% profit on giving 20% discount then how much would be the
profit if he doesn't give any discount?

af2 Uk SafE 20% BT T T 60% ST UTH T 8, A A o2 RS B TEH AaT 2 v e
feRamT g TT?

w m> 1.50
2.200
3.300

4.100
5.NOT



Cost price of 12 articles is equal to Selling price of 9 articles while discount on 8
articles is equal to profit on 6 articles. Find discount percent ?

12 SEG3AT T hT Tod 9 TEGST ok T5hT T oh SR § TaATeh 8 TEGSAT W TE 6 Tt

TR T o SR 1 TE TTA9Td AT hi?

/= > 1.15.79
- IJ:D ',
Yo' [y 2.28.22

3.17.12
4.18.98
5.NOT



A man marks his goods 40% above the cost price and gives 25% discount to
customer. At the time of selling the goods he uses 800gm weight instead of 1kg. Find

his profit percent ?

Teh SR 37U WTET i 3h Hed § 40% 3TTereh oifoha ohtaT 2 ofR UTeeh i 25% e I
2. AT 99 & G0 9E 1 fhet o ST 800 TTH ST T SUART hidT &1 SHHRT T

ITd9Td AT hITA?

, N> 1.12.5
2.31.25
3.16.7

4.25.75
5.NOT




A man marks his goods 20% above the cost price and gives 10% discount to
customer. At the time of selling the goods he uses 900gm weight instead of 1 kg and
at the time of purchasing he uses 1100gm weight instead of 1 kg. Find his profit % ?

Ueh SRR 37U AT oht vl Hod 6 20% 3TFereh Sifeha ohiaT § 3T TTaeh &t 10% Y D¢
AT . HTHTT S % THT 9E 1 FReit & ST 900 TTH ST T IUFT T T 3R @iie
&% T IT 1 Tohet o ST 1100 TTH TSI RT STTNT HIAT 21 SUHRT ATH % T

IR

(@) 35

3.32
4.42
5.NOT



There is an offer going on in a showroom which says buy six get two free. Then find
discount percent ?

T VA W AT T & & Iores et T & Ton amar foram o6t 31 o fera 81 v e
9T T hiTeTa?

2.25
3.24
4.40
5.NOT

(@) 1.20



There is an offer going on in a showroom which says buy four get three free. Then
find discount percent ?

Teh ITEH | ST ored Tt & Rred ohat wam & fof s s st ot o firera 8 v oe
9T T ShTTA?

/ > 1.75
o IJ:D ',

3.284/7
4.14 2/7
5.NOT



